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QUESTION 1

What two types of workloads can benefit from Cluster Networking (RDMA)? 

A. Computational Fluid Dynamic 

B. Monte Carlo Risk analysis 

C. Movie Rendering 

D. HPC File Server 

Correct Answer: BD 

 

QUESTION 2

Which benchmark is important to a customer when considering 0lg Data workloads on Oracle Cloud Infrastructure
(OCI)? 

A. TPC-DS 

B. TPC-DI 

C. TPC-C 

D. Terasort 

Correct Answer: B 

 

QUESTION 3

What three data sources can Oracle Data Science draw from? 

A. Google Cloud Object Storage 

B. Autonomous Data Warehouse 

C. On-premise Oracle database 

D. Azure Object Storage Blob 

E. AWS S3 buckets 

Correct Answer: ABC 

 

QUESTION 4

Which three Hadoop distributions are supported on Oracle Cloud Infrastructure (OCI)? 
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A. Pivotal EMC 

B. Apache Hadoop 

C. Hortonworks 

D. MapR 

E. Cloudera 

Correct Answer: BCE 

 

QUESTION 5

You are building a file system of 10TB Storage Capacity with only one file server using "Balanced Elastic Performance
tier" Oracle Cloud Infrastructure (OCI) Block Volume Storage. Balanced Elastic Performance tier throughtput scales at
480 KBPS/GB up to a maximum of 480 MBPS per volume. 

Which two options are correct about how many Block Volumes you can attach to the file server to get maximum IO
throughput? 

A. One Block Volume of 10TB size 

B. 10 Block Volumes of 1TB size 

C. 8 Block Volumes of 1.25TB size 

D. 20 Block Volumes of 500GB size 

Correct Answer: A 
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